
Based on George Booker (2014). Language/script modified by Donald Eddington (2016) 

Multiplication script (‘Traditional’ method with an emphasis on place value) 

Language (Script)  Recording 

423 multiplied by 15 
 

Multiply the ones 

5 by 3 ones is 15 ones 

Rename as 5 ones and 1 ten 
 

5 by 2 tens is 10 tens; and the 1 ten is 11 tens 

Rename as 1 ten and 1 hundred 

 

 

5 by 4 hundreds is 20 hundred; and the 1 hundred is 21 hundreds 

Rename as 1 hundred and 2 thousands 

 

 

Multiply the tens 

10 by 3 ones is 30 ones 

Rename as 0 ones and 3 tens 

 

10 by 2 tens is 20 tens 

Rename as 2 hundreds 

 

 

10 by 4 hundreds is 40 hundreds 

Rename as 4 thousands 

 

 

Add the digits beginning with the ones 

 5 ones and 0 ones is 5 ones 

 1 ten and 3 tens is 4 tens 

 1 hundred and 2 hundreds is 3 hundreds 

 2 thousands and 4 thousands is 6 thousands 
 

423 multiplied by 15 is 6345  
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